Roll No. :

Total No. of Questions = 12 ] [ Total No. of Printed Pages : 7

C-259

B.Com. (Part-1I) Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - 11

(Cost Accounting)

Time * 3 Hours ) [ Maximum Marks : 100
Section—A (Marks : 2 x 10 = 20)
Note .- Answer all ten questions (Answer limit 50 words). Each question carries

2 marks.

(@3 (3T : 2 x 10 = 20)
AT - [l TW U & I AU (IW-HW 50 ) | TAF WA 2 3TF F ¥
Section-B (Marks : 8 x 5 = 40)
Note .~  Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(@Us-a) (3% : 8 x 5 = 40)
Az - AW A FE e weE F SwW S (IH-E 200 =) | T&E W9 8 o
H T
Section-C (Marks : 20 x 2 = 40)
Note .~  Answer any iwo questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@vg-u) (31 : 20 x 2 = 40)
e - SR A 4 S i @ s dfwe (sw-dm 500 v) | T@E 99 20 FF
4
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Section-A (@US-H)

1. (1) What is Opportunity Cost ?
T T T R ?

(i) The standard time for a job is 20 hours @ ¥ 1 per hour. The job was
| actually finished within 15 hours. Calculate remuneration under Halsey

Bonus System.
WW%MWW?luﬁmﬁaﬁmﬁzoﬂﬂ%%lmm
H 15902 § @ qu &0 o T ) wed FA AN F SFIAR T THAHS

A Fwifs)
/uﬂ/ What is meant by semi-variable overhead ?
AeufEdTeie sufeaa & # smva § 2

(13 Write names of any four industries in which unit costing method is
apphied.

ft | sal & 9 fafav faad sor ama faufa dfa s w3 fea st g
®?

(v) What is meant by retention money in contract costing ?
3F M H Sy Yog § F Afyym & 2

(¢rf What is abnormal wastage ?
SRR R

(vil) Give the formula for calculaung material mix variance.

’ gt fagw fasw &t Tom ¥ 9 sane

(p‘iir)/lf loss as per financial books is ¥ 10,600 donations not considered in cost
accounts ¥ 6,000; what shall be the profit or loss as per cost accounts.

aﬁﬁﬁawﬁ%maﬁflﬂéoomé@ﬁmmﬁwﬁw
% 6,000, A1 TG W@ g YR oY ar B =W R 2

(ix) Fixed expenses is T 90,000, sales is 2 3,00,000 and profit 1s ¥ 60,000.
Calculate P/V ratio.

ﬁmmwoooo o3 % 3,00,000 7= w1w ¥ 60,000 ¥1 wry-TE arfrmﬁ
TUMAT Shifeg |

(x)  What is meant by absolute ton-km ?
IS &-fraidier § 71 amvg & 2
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TDORLILIEE R N am T e Uy

. qory requires 1,500 units of an item per month, each costing ¥ 27. 1y, cost
A factory s and the inventory carrying charges work out of 20% of the

,::;:;;;(cjr:n:;r?rolry Find out EOQ and the number of orders per year.
Would you accept a 2% price discount on a minimum supply at 1,200 units ?
o et # wad Al ae 1,500 s 1 fa waﬁmmﬁ%mﬁ
o wf TE 2 27 81 uf aMRw AN AN 150 A HYEETT H $HE 7T TAE
qea & 20% (3Em w=iE W) & A E s AR Ay g A Ad § fF I A
e w1 gen & ful wifan) |

Aqfd 1,200 THEA H B W 2% FE T A WA F W mEA 31 A OA
= WiFd HH B GAE 3 )
Compute machine hour rate from the following particulars relating to machine
shop of a factory :

Expenses per annum (T)

Power 1,56,000
Lighting etc. 32,000
Supervision 60,000
Rent and Rates 38,830
Indirect expenses 3,300
Repairs 73,200
Depreciation 39,000

There are 12 holidays besides Sundays in the year of which 2 are on Saturdays.
The factory works 8 hours in a day but Saturdays are half days. All machines
work at 90% capacity throughout the year and 10% is reasonable for breakdown.
There are 5 machines of same type and similar size in the shop.

TF $a F1 Ay v 3 gratea frAfataa faaon @ vyt gver a1 1 wReeas st

=4 yfa ad ()

qfa 1,56,000
w19 wife 32,000
REER 60,000
o 7 i 38,830
AqAd =44 3,300
H{HA 73,200
wd 39,000
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af # faari & fafi 12 fad w1 s @, fod 2 afam # ¥ fafes g qo
o foa ¥, P T Wi ) anen T e @ A ¥ R e g oy
90%, - arqan W wd Wt € awn wd § wwEe & 10% TEYA g9fag & W9 F 5 ey
9F &R 9 A THR $ £

4. What is meant by contract costing method ? Discuss in brief the various items
appearing in debit and credit sides of a contract account,

&1 T i A @ 0 AU R 2 UH I W B AW awn oy & Y TR
fafim w51+ 989 7 FHFEY

5. From the following information relating to a manufacturing process of Modi
'- Ltd. Calculate labour variances :

ﬁamﬁﬁwmﬁmﬁuﬂﬁ#ﬁmwﬁﬁmmwwﬁwﬁm
fFem Fifow

Standard Rate of Labour T 10 per hour
Actual rate of labour | T 12 per hour
Standard time 500 hours

Actual time taken 450 hours including

25 1idle hours
6. Explain the meaning of marginal costing and give its advantages.
mmé@mmaaﬁmﬁqmmmﬁmmﬁﬁm

/7 The product of a factory passes through three processes A, B and C. Following
is the expenditure on these three processes :

T IR F IR A, A, AW A el ¥ S TR §) A e 2
=g frafafea & -

Particulars Process A Process B . Process C %
Material used T10,000 T 5000 % 2,500
Wages T 13,000 T 12,696 T 7,223
Indirect Expenses T 2,800 T 2,500 X 3,750
Units issued (50,000 units) ¥ 20,000 - -
Nor-;nal Wastage - 4% 10% 10%
Sale of scrap per 100 units T 10 325 - %10
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iven above should be cal .
The percentase of wastage gIven e culated on the unity engering
The finished product of ‘C’ is transferred to finisheq stock

each prOCCSS- . . I _ ]
output of process ‘A’ is 47,520 units, of process ‘B’ 43,460 units

account. The

of process ‘C’ 38,960 units. Prepare process accounts and abnormal wastage

and
and effectives account.

A T qa ®1 SRR F A AF WEA § W w Al g WA F
.H.WWWWﬁﬁﬁm@%ﬁmm%l wfsan * 31" o1 Seared 47,520
e, ' Wi W 43,460 THEA 9 ‘W' wlwA 6 38,960 szl €1 wfwar @
st it et
qo SEM &9 Td 990 @1 49R Fiferg |
Rajasthan Transport Company has been given a 20 km long route to run a Bus.
The Bus costs the company a sum of ¥ 40,00,000. It has been insured at 3% per
annum and the annual road tax amounts to ¥ 80,000. Garage rent is T 16,000 per
month. Annual repairs is estimated to cost ¥ 80,000 and the Bus is likely to last
for 5 years.
The salary of the driver and the conductor will be ¥ 24.000 and T 16,000 per
-month respectively in addition to 10% of the takings as commission (to be
shared equally). The Manager's salary is 2 25,000 per month and stationery will
cost 2 1,000 per month. Diesel and oil will cost ¥ 5,000 per 100 kilometres. The
Bus will make 3 round trips per day carrying on a average 40 passengers in each
trip. Assuming 15% profit on takings, calculate the Bus fare to be charged from
each passenger per kilometre. The Bus will run on an average 25 days in a month.
umﬁ;méamﬁsﬁ@mﬁhﬁqhmﬁmmﬂaﬁﬁﬁqﬁlﬂ@%w
2 @ 40,00,000 ¥1 77 3% Wfew @ A & qm ad o Tz 2 T 80,000
¥\ W= frmar T 16,000 Wi 918 G990 Afte BOHG i STFRIMG P Z 80,000 TS &4
F TvIfag e 5 a9 €|
e Ao SRCATEE 1 dad wA: T 24,000 3R T 16,000 Wi W v, woh Afafe
femel Wt o famt W 10% HHIYH (S 2 # s |t @) @ S gEws
1 ¥ T 25,000 YRwE den Ryl w1 @ T 1,000 wfeE ¥ g% 100 fwemet

S T I F @ T 5,000 ¥ wdw wwa  olwad 40 IH1 @ W g I
TR- B @ = WA e 9w W gy e o frnd @ faml W 15% SfE
Fo & 9 =9 O § e 25 A @ aed ¥ wekw ant § v feeiter = few

y aen fEua 9| i)
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Section—C
(Evs-u) o
: : : ity (100%).
A factory can produce 60,000 units per annum at its optmum capacity (100%)

’ The estimated cost of production are as follows : |
Direct Material ¥ 3 per '-m?t
Direct Labour ¥ 2 per unit
Expenses :

Fixed 7 1,50,000 per annum
Variable T 5 per unit

Semi-variable overhead : ¥ 50,000 per annum upto 50% capacity and an extra

expenses of ¥ 10,000 per annum for every 25% increase in capacity or a part

thereof.

The factory produces only against the orders and not for its own stock. If
production programme of the factory is as indicated below and the management
desires to ensure a profit of ¥ 1,00,000 for the year, work out the average selling
price at which units should be quoted. First 3 months of the year 50% of
capacity and remaining 9 months of the year 80% of capacity will be used for

production. https://www.mgsuonline.com
TF BT H1 A (100%) ST & 60,000 3134l yfa 7d 1 3Icargq &1 srqEfaa
e 7 TR R

T "/HU ?39%33»‘3‘
JaE 5m | ¥ 2 wfq 3=rg
aqg

= Z 1,50,000 wfr &
AR 2 5 wfa g

-l I9Re ¢ 50% wHEEa @ T 50,000 W a9 w2 10,000 s
= B S wrda # 25% @ feE wm # gfg w8
%@Wmmﬁwﬁwm%wﬁmﬁ%%qm&%ﬁm
mﬁwmﬁﬁnwaﬁﬁ?I,OO,Ot]OmamaﬁamﬁﬁisﬁﬁﬁﬁT
mmﬁwmﬁmw@mﬁm,ﬁﬁmmmﬁ:aﬁéumsw
ﬁWWWSOHﬂTHﬁ%ﬁHQWﬁmWWSO%WWI
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10.

What is meant by Cost Accounting ? Explain briefly the objects and advan¢
- ages

of cost accounting.

Discuss the causes of differences between costing profit and financi

‘ al profit,
How arc two profits reconciled ?

wmuamhﬁawnﬂm%mﬁmf%ﬁﬁmﬁﬁwmmmm
ven fFm I 7

The following data are given for Madhubala Ltd. -
wyae fefee & fory frffan wim ge & -
Sales (8,000 units) T 3,20,000, fixed cost 2 60,000, variable cost T 30 per umt.
Prepare marginal cost statement and calculate the following
mmﬁw—ﬁﬁmﬁmaﬂtﬁqﬁf@aﬁmmz
(1)  P/V Ratio
SRR e O G
(1)  Sales for 40% P/V Ratio
40% =u-9m Hq9E % fou fawa
(1m1) Break-even sales in value
- fa=ge fawa nfw
/By Contrbution, profit and variable costs at sales values of 2 2,56,000
- ? 2,56,000 % fawa gea W swieH, uftadeiict enm e ey
(v)  If the selling price is reduced to ¥ 32, find the new sales volume to offset
this price reduction.

#fe faska gea germm ¥ 32 we few Wi A fasra @1 98 uf 7@ wE W3
a2 fawa qea €1 wivyfa & forg smavaw @
(vi) Sales 1o earn a profit of T 40,000 under price reduction

- o L = 3 Q
72 fawa gedi w2 40,000 #1 @M s S0 € fawa F5 of
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